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2 2714279 2247.09 281.12 6745 8923 2990 22327 1712.06 1779.46 1786 176
& FE | 52700 527.00 50.00 361.00 116.00 318 21
X | 14714 9393 4541 7.80 16.56 70.04  60.54 101 19
i 3| 13677 50.00 2348 63.29 54.51 50.00  32.26 107 45
kM 50.00  50.00 50.00 41
X  ® 86.77 23.48 63.29 54.51 32.26 - 66 45
R 4117 47.17 19.63 460 2294 49 19
£ % 47.17 47.17 19.63 460 2294 49 19
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R E]D 1753 1753 17.53 18
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B 4200 4200 0.83 2945  1L.72 31
B B 51.66  51.66 51.66 40
'S 51.66  51.66 51.66 40
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Urban Rail Transit System (completed) by City (2014)
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